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(1) #5725 F 90T DUAE BY B3 771 A IR0 3 A0 & 5L, 0 1) 2 R A B ) TEL A SC 28 0 R A
“—RAZCHAREREPHYLRE, EXERNERBEL, RAEFESEE T ERSNERER. B
S, B B2 [ AC BRI 4 Y [ e LA R M IR A, do

a) His ambition was to emulate his mother and become a member of parliament.

“emulate” HYE SCR“HEEGEE) IR . BRIRE WA B Y& LI, IR AR 278, 5%
TNT @R ERUAXEER,
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b) They have too weak a team to mount a realistic challenge for the championship.

“mount” B, —BKUL,FE-NEKARTWRESS L, HRINAEZN“ELE HE.
TR"EFTNERATHBERNE, UM —EAETE , HARE KB B R3) Fh (K&
%)

(2) BRI RARXFH RN EAER, C 5aE BB RE, HEWHIE. LT 4a.,
BRI ZELXMAEMERERRR AT ETEEER,EE W EFE R G R SO 7 X
A BB FAE BB O BRI XN ER & X, R T EILMEF

a) Even as a child, Thomas Edison had a very inquisitive mind; at the age of three he
performed his first experiment out of curiosity. (inquisitive = curious)

b) Jack is now a florist, who keeps a shop for selling flowers in our district. (&€& M E)
B RE S, BATTAT LASH S florist B7ESE F W ER)

c) A tornado can do a lot of damage. For example, east of Australia, people talk about a
“rain of blood”. This is caused by a tornado picking up red dust and mixing it with water to
make red rain. ({RIFEH T, 7T LAFE HH tornado £ ¥ KU HER)

d) Her friends laughed at me, and my sister felt wretched, very unhappy. (7] i)

e) Unlike his brother, who is truly a handsome person, Adam is quite ill-favored. (#R#E L
3¢ ,handsome &5 ill-favored 4 g, — %F ;2 X iA])

HBEAX—HEN , BEE=EAFH: BB L T XBEARBRNSEERNT RREDN,; &
58I RO MR N SRR EBEELEN AR S SRICZEEAREENXR,

2. IBEARB N A

N FREHFELERE, MEAERGERETRINMWEBIBEZR , BEBERE ZIEFTHIME
S, B AR FiE AL AR A BOR MR . P EREHFHIRE R MR AR | 585
RBEMEREHBET  IABERFERENARMEIRRE, HiFE—FZEERBROB
FiEE HEHMEEAE ARSAEENAS. AAREAKNITXE , REFESKENEE M
RIMB A, ERBEEERP , BELAEEEM ERER XES L RENEREARRNER.
n, FESANNE GBS ERERKULERESANERMARBSIUERETFEAERKRHEX
B. HETHENFA:

(1) We wish that you had not had such a lot of work, because we know that you would
have enjoyed the party.

that 5| B ABEALFEBDIA wish WEE , RREE MKW EESNTAZZZRA, #1511
ZHEIHR . MBEAEEX N, W Tk B E o T A X 2 26L& ES XK
KA T E Lo

(2) He stopped smoking last week.

(3) He stopped to smoke.

HIE BN stop FRR SN Z RA AR ERXRR AR KA F& L, Q) FAE 1L TME, BV ERR
15 T SR R A B B AVETF 46 TR M o

RIFCAREHNEEFLER T BERREL HHRERERMUABSERER, M.

(1) Mary helped me pass the examination. It will not be too much for me to thank her.

(2) T went out into the street to discover as best I could what time it was.
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HATAE “too - "MBEER K UKTFAHE - TLEERS —-TEERE AR
K" (VA EREATEBREE . BRQMNLERETIE s best” M A , R BT K
BRRRE”, XHERAEEMBT .

3. BEGATRIIS

RENARARYT UL IEE RS S HENSA R B, X e g R AR A R EARE
HH o ATLUREREAR =02 — AT A4, R P K A A R R OGE , R B 1
R AR FE R — RN, BRI BN F S MR A, R ESH, FTEE %
RURMEERRRISEME RS, EFEEMT TRAEBNEE S, EIHER L, I BHEE
BB BRSSP A AT RIS E R AR EAEE . TR RIE S WA,
ERREFTHRU BENARINRRREVERBNBEETHA ARLEARNMEEM>
HY , SR B B2 RE 7 S SR AR W UT (IR B LIRSS RE N RO LR

(Z)MEEMGRES F ik .

B8 15238 B AT LA 53 A 1 3 1 7 3K (reading for pleasure ) #1%% 3 # ] i (reading for knowledge) .
EH—HREEME, S ARNHACHRZEN . BN THITELHE, FRN TEREE, R
RATHE R ERRE T RRBBEE B o CRGE) X535 T A48 i 5 5 1 70 70 ) 72 B 4 oy
BAHER, MERRE HIEEF KRR, WA R, 7 ¥ RRER P, EE R R Irm N
BRI, AR ARE M A BB ok, IR P T RO B B 0 T B o A, M TR 4R S B i
BE, [FIR 3 hn T B R

1. R B i DI 5

8] 5% S R0 LR I 05 T - AR B MERR R MR AR I R R R R AR A R O B A
P BR— A o CRATIXT K ZEFEE = 5P B A B R R 48 40 8 70 17 (wpm ) , 282 M B B {66 B4 4
Kat, BB AR 100wpm, ¥ F K 70%LA . BRXBXN+0BAKGRE, RIMTLFAZRLE
RO BRI TR T o BRI BE DI R ZEEAT AR B TR , B SEiT ROt 6] , B A © 49 wpm, FEE{R
iE 70%LA BRI HERRR, 7B VA RIS T, RS L3R, B S BT, AR AR
HIEK,

BRI AER MEREFRARE I WER, REEERAERRERNTER, A _%F
VLG SRR, A SR MR A LR B PR EMRRE )7,

2. IE#R B8

ERAEA R EM BT RBNEENBRAELS ARG R REFRIREFZ A K HiL
B 8T R IR R B B AR BRI, A2 L4 3 (phrase reading) 89 37 1% , 3% & B
(sense group )Hf A B RRRLE T 0L, A A, HEEE . MAOBBK YA EREEIE
WA ERSW SRS REEWE T, Hlin.

Children display an amazing ability /to become fluent speakers /of any language /
consistently spoken around them. / Every normal human child /who is not brought up /in
virtual isolation /from language use /soon comes to speak one or more languages natively.

3. WM %

AT TR T A R TR DR LR A LB A Y, R TE R E B VR P S AR B IR AR RS, R T8 KB
PR RN DX PR I B

Wit 3% (Skimming ) 22 T 8 2 SCEE 9 3R 45 4 S A 5 09 WL A 0 55 4 XU T AT B — P e 4%
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BRBE, HAF M EXT & SCB AN AR BT B, BB XENGE, EBEMRE ., B8 & BN
FEEFREFEE, UMET B XENEEERPLRE.

% (Scanning) B8 T ERFEEBLEE R MHAITHE EHEFE, ERMNBRERTE B LR
WREN W XE, BT LR BENT Y, ERREHEXAWIH ST REZE LETEREM,

()Mo £R

WBEBAR KB E 8, BRES AERAZE., RITREREWFRERM R4
W, AMUBEBNPEIRFRALCKEENEH, A AL R ESHATRERXENEBRRERM
HEAY EFENMNASE ERAABERKY . XENZEIXNFIELESEM BERZEIEFEAR
AR MER Z B RE S KB M R LR , iz FA T F 48 5 D 252 R IR A Bt 3R 1815 B . (R )
MR%ETIEMBRFZZEENERMBRTFRABY. WREH S RERBECHEEN, LY KR
ShiFEER . RAENS KB EA GBS RIFIIER, FFRXIENER S FIRES

B TIEFEAFE—A—F TSRS, BRREE T2 FHE A& M FER Y 0 15
i XEMIES MM HIE, IE ZF8BEFEEMXEANE X BEEEFIRIEMABT R
FR o B R RN AZ BRI SR, 35 B HE VR BRAL o 3 58 X DEIE B RN B h Fn2E S R,

= AEERERAXERNAEE

()X FHRBAHE

KEFIEHFEM B —RBXE A EET. FREFBEAFNANIECH . WHE JLHAMBGE, 18
PEAS[F] B SO 5 E PR SHE T 25, A B TR S R M RS .

IRRGE Y E EEP N

XEXEFERWN—AR—RINBHHTHR WS, GBS F R E R AP, i
XEHEHEAENERIAFRE, MHEXSEEADMIES OHEAMBESHRR, £IER,
HEE BTSN E K :what,who,when, where,why and how, BEFEHERIREZIK, IFHE
FEE#EXPIEFANE L.

2. ULEAME K

X FER - EHHEARAEXE, AXREAERARMLSARAOBE FF 5L R
BB, — RS RSRmRAEE R, SMXENREREFEEX . ZEEM™E, B
RN EEXENFTEEALERE BEFTEANEESY B EE X ENiAA  EYH
BERHNEXR,

3.BGEHE SR

WX REFAL N E - NARKEEHITITE, A BB RS FEiE R TR P, 1E
5| BIUEF B SE R UE B WAL URARIEE PRI AR F MIGE X R R ERNA B AR W
CRGARBA AN ERLG S, A LEE EZBE  AREIGE X , AMEEREX WA ESFEL 98
BEENE .. MBS BRI E CEBEEN A SIANRESE,  ERSWEENHE L, B
HEV, EEBETGEXHIS A EEMSIES R XEFEERMSE B Bk A, 555 —IT7XF
F 18 8 S5 AN S AR A A EIRE A R B UGE CE AR RE,

(=) ¥ ik 22 Al 3% 8 &Y

HRIECR AR FRFEER B B DU L 68 7 AR R , 3 L i) B SE B AR A B A LU F JLfe .

1. A&



RFPFIVERIBRAE S HREZ 5
AR E ) —E AT RE, RERBALAWHAHNER. FRHBRETWT
According to the passage, who (when, where, what, how, why) ---?
The passage states that

Which of the following is (not) true according to the passage?

All the following statements are mentioned in the passage except that

R AR R, YU A R A DR R 1, BICE T ERA R @\,ﬁF%ﬁfﬁ*ﬁTﬁﬁ
A5 EFB TR

2. BN

A B B R A B AR R L T SO AR e 3R] R 4L R T HERR o S, X IR R MO
<2 A TR B R I, SRR, 7E S0 EE TR R B BRI A P 2, et BRI SRR b R SCP I RLL R LR R
DA SE S SRR R B B R WM A EA

The word / phrase “:--” in line -+ means

3. ¥ 58

A IE B A A E AR E B AR B A R A VLA B M R R O 3L
HISAREIERE . W WM T RANT -

Which of the sentences best describe the main ide a ---?

The passage deals mainly with

The best summary of the passage is

The purpose of the author to write this passage is

The best /most appropriate title of the passage is

FIFME T &, REREBXERE,HE llﬂ@%ﬂﬁﬁﬁzﬁﬁﬁﬁ HER A TS B AN, BE
TS MR SR Y IEBR LT

4. HEE

I R AR 4 S B R R I P R R MR RO B SR R 15 SRR IS A Bt BOR AW X
GHMEENER. ¥REEE .

It is implied but not directly stated that

It can be inferred form the passage that

What conclusion can we draw from the passage?

The tone of the passage can be best described as

B  HEAEFEXEFET AMEBRBERAER, M %E%E@?&Eﬁ& R IREH B BB
BAGTREFER XS WE BEMBRNAE. USHEXERERES

R B — R Y SOk A — T DR B AR B A o

Between 1815 and 1914, the world witnessed the greatest peaceful migration in its history:
35 million people, mostly Europeans, left their homelands to start new lives in America. Why
did these people risk everything by leaving their homes and families to see what the New World
had to offer? There are both push and pull factors which we should consider.

First, what forced emigrants(# ) to make the decision to leave? One major cause of the
exodus among European peasants was the rise in population, which in turn led to land hunger.

Another was politics. Nationalism saw increased taxation and the growth of armies, and many



6 X&HHBFRME-FZM
young men fled Europe to avoid being conscripted (fE£%). Also, the failure of the liberal (H B 3
X #) revolutions in Europe caused the departure of hundreds of thousands of refugee(HER).

Physical hunger provided another pressing reason. Between 1845 and 1848, the terrible
potato famine in Ireland ended in the deaths of one million Irish people and the emigration of a
further million who wished to escape starvation. Religion also encouraged millions to leave the
Old World.

In short, people chose to leave their homes for social, economic and religious reasons. As a
result, by 1890 among a total population of 63 million, there were more than nine million
foreign—born Americans.

But what were the attractions? First of all, there was the promise of land which was so
scarce in Europe. Next, factories were calling out for labour, and pay and conditions were much
better than back home. Men were needed to open up the West and build the long railroads, and
settlers were needed to populate new towns and develop commerce. There was the space for
religious communities to practise their faith in peace and comparative isolation.

As we know, there were losers. To start with, there were those unwilling immigrants, the
slaves who had been used as a source of cheap labour for the tobacco (4 #i )plantations of the
South. Nor should we forget the equally awful fate of the American Indians. By 1860 there were

27 million free whites, four million slaves and a mere 488,000 free blacks.

Choose the best answer:
1. In Paragraph 2, the word “exodus” most probably means “ 7

A. living a poor life in the villages

B. increasing the production of their crops

C. remaining on their farms

D. leaving their homelands in great numbers
2. According to Paragraph 2, we can infer that the lives of the 19th century European peasants
were

A. difficult B. happy C. interesting D. peaceful
3. What is NOT given in the passage as a reason for emigration?

A. To find enough land.

B. To search for adventure.

C. To escape starvation.

D. To avoid taxation.

4. Paragraph 5 is about

A. the better pay and working conditions in America in the 19th century
B. the reasons for the need of labour in America
C. the attractions of America in the 19th century
D. ways used to develop both industry and religion
5. It seems that this report is




RBRBRBREISRE 7
A. unfair B. objective C. exaggerated D. imaginary

(BRRER]

L D. X XES BT LM ABREEWNHIRE , exodus FrE M A) F& LR “SBRRM
RERBRXRNVBEERAOHEK, tHEZ", ZBEETXPFERERX—& XHESGAZTA .
“leave,fled, departure”,

2. A BEHE, REF_BRE_AME=BRNEHT YR A DK, LHES, EER AN
BB, RREEERF, REBREMS 7, RATAT LIRRE H X —#®,

3. B. AW A, D ZREE _BRRAWBRIEE,C £WMALE ZBRE ., XPEERB BIAS
B

4. C. X B, REBLBRIFLMREMERBRAMAET LIRSS “EMBRHOBRSH"X—
BEER, CHMBAEERR, R =R AP - RE B .

5 B #HEE, FEEITAKBOELMEARFURESHRENELHE, Z W5 T 19

: HEBRMABRENX - HSALHHTLERMAE, 2XEEEE  FEEL  BHES

K EMERMET K,



Unit One

In the late 1960’s, many people in North America turned their attention to environmental
problems, and new steel-and-glass skyscrapers were widely criticized. Ecologists (4 Z52% %)
pointed out that a cluster of tall buildings in a city often overburdens public transportation and
parking lot capacities.

Skyscrapers are also lavish(JR % #) consumers, and wasters of electric power. In one recent
year, the addition of 17 million square feet of skyscraper office space in New York City raised
the peak daily demand for electricity by 120 000 kilowatts—enough to supply the entire city of
Albany (BB/REEJE), New York for a day.

Glass—walled skyscrapers can be especially wasteful. The heat loss (or gain) through a wall
of half-inch plate glass is more than ten times that through a typical masonry(& TIoR) wall filled
with insulation(4:4%) board. To lessen the strain on heating and air—conditioning equipment,
builders of skyscrapers have begun to use double-glazed panels of glass, and reflective glasses
coated with silver or gold mirror films that reduce glare as well as heat gain. However, mirror—
walled skyscrapers raise the temperature of the surrounding air and affect neighboring buildings.

Skyscrapers put a severe strain on a city’s sanitation (Y3t T4 ) facilities, too. If fully
occupied, the two World Trade Center towers in New York City would alone generate 2.25
million gallons of raw sewage each year—as much as a city the size of Stamford, Connecticut,
which has a population of more than 109 000.

Skyscrapers also interfere with television reception, block bird flyways, and obstruct air
traffic. In Boston in the late 1960’s, some people even feared that shadows from skyscrapers
would kill the grass on Boston Common.

Still, people continue to build skyscrapers for all the reasons that they have always built
them—personal ambition, civic pride, and the desire of owners to have the largest possible

amount of rentable space.

Multiple choice:
1. The main purpose of the passage is to
A. compare skyscrapers with other modern structures
describe skyscrapers and their effect on the environment
advocate the use of masonry(fi TR) in the construction of skyscrapers

o oW

. illustrate some architectural designs of skyscrapers
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2. According to the passage what is the disadvantage of skyscrapers that have mirrored walls?

A/ The exterior surrounding air is heated.

B. The windows must be cleaned daily.

C. Construction time is increased.

D. Extra air-conditioning equipment is needed.
3. According to the passage, in the late 1960’s some residents of Boston were concerned with
which aspect of skyscrapers?

A. The noise from their construction

B. The removal of trees from building sites

(\:/ The harmful effects on the city’s grass

]?‘z The high cost of rentable office space
4. The author raises issues that would most concern which of the following groups?

A. Electricians

@ Environmentalists

C. Aviators

D. Teachers
5. Where in the passage does the author compare the energy consumption of skyscrapers with
that of a city?

A\]/ Para. 2 % Para. 3 C. Para. 4 D. Para. 5

True or false statements:.

1. The ecologists were worried about the electric power the skyscrapers wasted. ( )

2. Skyscrapers are widely accepted as a modern and proper architecture form. ( )

3. People living in skyscrapers are usually very wasteful. ( )

4. Builders of skyscrapers begun to use double—glazed panels of glass, and reflective glasses coated
with silver or gold mirror films to avoid the heat loss or gain.( )

5. Skyscrapers may even affect the ecological world. ( )

dSsoge 2

Trees to Catch the World’s Attention
Stacey Bodger

IN THIS ARTICLE: Jerome Hutin—Koechlin’s mission is to save the world by reminding us

that trees are essential to life. He plans to show tree photographs at life size.

A French photographer touring the world to take pictures of the world’s oldest and biggest

trees says his images will be used in an exhibition to try to save the world.
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He is now heading to China to carry on his project.

Jerome Hutin-Koechlin has spent 11 months travelling through Chile, Canada, the United
States, Mexico and Australia photographing native trees. In California, he photographed a
Bristlecone pine' that is at least 3 000 years old. In New Zealand he visited Tane Mahuta?, the
giant Northland Kauri® which is more than 1 000 years old, a Totara® in Waikato’s Pureora
Forest and a large pohutukawa’® in Opotiki®.

Hutin, who is 32, plans to enlarge his tree photographs to life-size’ and work them on® to
canvases’. He will unravel the artworks of giant tree photographs hundreds of meters tall from
high buildings in Paris, New York and Sydney.

He estimates that the photographic reproduction and canvas will cost about $8 million. He
also wants to incorporate!! a laser-light show of a seed growing into a tree with the exhibition,
planned’to start in 2 000. He has not yet secured a sponsor but has found a French publisher
willing to back a book featuring the trees he has photographed and recorded.

Hutin’s message is that the human population is not taking trees seriously and they will die
if it does not change its attitude to them.

“With pollution, forestry and neglect we are ruining our trees too quickly, yet we know we
cannot survive without them. We must save the remnants® of these old trees and although it is
difficult with the hazards™ of the world, that action will save the world.

Hutin will head to India, China, Japan and Africa before returning to France in September

2 000 to begin preparing his exhibition.

Notes

1. Bristlecone pine T, R EER AR, ER AR RELL

2. Tane Mahuta B DR, BRI EF

3. Kauri FER, P FH 20— RN

4. Totara FEIRHLE DU, 7= F 04 22 i — b B TR AR

5. Pohutukawa BEMOKR, =FHELO MK, ERLE, H+ FTEHESSEK
A%

6. Opotiki REFI(GEE)

7. life-size LY —RE KN

8. work them on BREME L EXEEERER---- L

9. Paris, New York and Sydney

AR EL HARSBTEEEHBER EZEHLBPLO
) “H 27 FIRAF WS B S AR LR R
10. canvas AR

11. unravel ¥, R
12. incorporate {w ALl B, e HFA, A
13. secured B3, k8, FLe

14. remnants BRI
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15. hazards ERAE

Short answer questions:

1. Who is the hero in this passage, what is his nationality, and what does he do?

2.
3.
4.
5.

Has he started carrying on his project? Why do you say so? What’s the purpose of his mission?
How is he going to deal with his tree photographs for that purpose?
How is he to manage the expenditure he will have?

How does he plan to design the exhibition?

Passage 3

Scattered through the seas of the world are billions of tons of small plants and animals
called plankton. Most of these plants and animals are too small for the human eye to see. They
drift about lazily with the currents, providing a basic food for many larger animals.

Plankton has been described as the equivalent of the grasses that grow on the dry land
continents, and the comparison is a 10 appropriate one. In potential food value, however
plankton far outweighs that of the land grasses. One scientist has estimated that while grasses of
the world produce about 49 billion tons of valuable carbohydrates each 15 years, the sea’s
plankton generates more than twice as much.

Despite its enormous food potential, little effort was made until recently to farm plankton as
we farm grasses on land. Now, marine scientists have at last begun to study this possibility
especially as the sea’s resources loom(f&%J ! #) even more important as a means of feeding an
expanding world population.

No one yet has seriously suggested that “planktonburgers” may soon become popular around
the world. As a possible farmed supplementary food source, however, plankton is gaining
considerable interest among marine scientists.

One type of plankton that seems to have great harvest possibilities is a tiny shrimp-like
creature called krill(B§4F). Growing to two or three inches long, krill provide the major food for
the giant blue whales the largest animal ever to inhabit the Earth. Realizing that this whale may
grow to 100 feet and weigh 150 tons at maturity it is not surprising that each one devours more
than one ton of krill daily.

Krill swim about just below the surface in huge schools sometimes miles wide, mainly in
the cold Antarctic. Because of their pink color, they often appear as a solid reddish mass when
viewed from a ship or from the air. Krill are very high in food value. A pound of these
crustaceans contains about 460 calories about the same as shrimp or lobster to which they are
related.

If the krill can feed such huge creatures as whales, many scientists reason, they must

certainly be contenders as a new food source for humans.
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Multiple choice:
1. Which of the following statements best describes the organization of the passage?
A. The author presents the advantages and disadvantages of plankton as a food source.
B. The author quotes public opinion to support the argument for farming plankton.
9\. The author classifies the different food sources according to amount of carbohydrate.
R, The author makes a general statement about plankton as a food source and then moves to
a specific example.
2. According to the passage, why is plankton considered to be more valuable than land grasses?
A. It is easier to cultivate.
B/ It produces more carbohydrates.
C. It does not require soil.
D. It is more palatable.
3. Why does the author mention “planktonburgers” in line 257
A: To describe the appearance of one type of plankton
B. To illustrate how much plankton a whale consumes
Gt To suggest plankton as a possible food source
D. To compare the food values of beef and plankton
4. Blue whales have been known to weigh how much at maturity?
A. One ton
B. Forty tons
{]/ One hundred and fifty tons
D. Four hundred and sixty tons
5. What is mentioned as one distinguishing feature of krill?
A. They are the smallest marine animals.
B. They are pink in color.
C. They are similar in size to lobsters.
D. They have grass like bodies.
6. The author mentions all of the following as reasons why plankton could be considered a human
food source EXCEPT that it is
A. high in food value
B. in abundant supply in the oceans
C. an appropriate food for other animals
D.

free of chemicals and pollutants

ssage D

“Water, which is essential for life, costs nothing. On the other hand, diamonds, which are
essential for nothing, cost a lot.” Unfortunately, the world has changed considerably since an

18th century economist made this remark.



